Date 2/1/201	<u>7</u>		
Type of event	Snow 1"		
Time Called Out	7am		
Time Event Finished	3:30pm		
Total SaltTons	Unit cost Cost 52 \$ 59.36 \$3,086.72		
Total CalcGal.	315 \$ 1.45 \$ 456.75	6	
Total Sand Salt-Yds	75 \$ 12.62 \$ 946.50		
Fuel- Diesel Gal. Fuel Gas Gal.	269 \$ 1.96 \$ 527.24 28 \$ 1.89 \$ 52.92		
Total Miles	1243		
Equipment Repairs	\$ 67.17		
Cutting Edges			
Labor,Over Time Highway,Mechanics & Buildings & Grounds	0 \$ 29.30 \$ - \$5,137.30 Tot	tal	
Event Notes	Light snow roads covered crew out 7am	n to salt main roads. Scrape and sand side	
1	roads done 3:30pm		
		,	

Date 2/7,8/2017

Type of event	snow 6" to sleet and freezing rain
Time Called Out	3 am on the 7th
Time Event Finished	3:30 pm on the 8th
	Unit cost Cost
Total SaltTons	133.6 \$ 59.36 \$ 7,930.50
Total CalcGal.	631 \$ 1.45 \$ 914.95
Total Sand Salt-Yds	358 \$ 12.62 \$ 4,517.96
Fuel- Diesel Gal. Fuel Gas Gal.	1022 \$ 1.96 \$ 2,003.12 100 \$ 1.89 \$ 189.00
Total Miles	3677
Equipment Repairs	
Cutting Edges	\$ 1,196.54
Labor,Over Time Highway,Mechanics & Buildings & Grounds	263.5 \$ 29.30 \$ 7,720.55 \$ 24,472.62 Total
Event Notes	Dispatch called 3am crew in at 4:30am salt and scrape mains scrape and sand as needed
	through the day. Forcast for sleet and freezing rain changed to sleet and freezing rain-drizzle
	8:30pm. Treat roads as needed through the night. Salt mains for commute on the 8th
	clean up all roads and sand as needed.

Date 2/9/201	<u>7</u>
Type of event	Snow 8"
Time Called Out	7am on the 9th
Time Event Finished	1am on the 10th
Total SaltTons	Unit cost Cost 98 \$ 59.36 \$ 5,817.28
Total CalcGal.	636 \$ 1.45 \$ 922.20
Total Sand Salt-Yds	276 \$ 12.62 \$ 3,483.12
Fuel- Diesel Gal. Fuel Gas Gal.	926 \$ 1.96 \$ 1,814.96 45 \$ 1.89 \$ 85.05
Total Miles	2301
Equipment Repairs	\$ 655.06
Cutting Edges	
Labor,Over Time Highway,Mechanics & Buildings & Grounds	145 \$ 29.30 \$ 4,248.50 \$ 17,026.17 Total
Event Notes	Crew out salt and scrape main roads, scrape and sand through the day as needed.
<u>-</u>	Start clean up and sand sides then salt and scrape mains. Done 1am.

Date 2/11/201	<u>7</u>
Type of event	Snow 5"
Time Called Out	5am
Time Event Finished	4:30pm
	Unit cost Cost
Total SaltTons	81.4 \$ 59.36 \$ 4,831.90
Total CalcGal.	389 \$ 1.45 \$ 564.05
Total Sand Salt-Yds	89 \$ 12.62 \$ 1,123.18
Fuel- Diesel Gal.	409 \$ 1.96 \$ 801.64
Fuel Gas Gal.	28 \$ 1.89 \$ 52.92
Total Miles	1363
Equipment Repairs	
Cutting Edges	
Labor,Over Time Highway,Mechanics & Buildings & Grounds	168.5 \$ 29.30 \$ 4,937.05 \$ 12,310.74 Total
Event Notes	Crew in 5am to salt and scrape. Light snow through the day turned to some freezing
	drizzle in the afternoon. Scrape and sand through the day resalt mains in the afternoon.
	Crew home 4:30pm for the night as needed sleep for the blizzard on Sunday-Monday

Date 2/12,13/2017

Type of event	Snow 12"-16"		
Time Called Out	2:30pm on the 12th		
Time Event Finished	8:30pm on the 13th		
	Unit cost Cost		
Total SaltTons	110.4 \$ 59.36 \$	6,553.34	
Total CalcGal.	662 \$ 1.45 \$	959.90	
Total Sand Salt-Yds	130 \$ 12.62 \$	1,640.60	
Fuel- Diesel Gal. Fuel Gas Gal.	1214 \$ 1.96 \$ 92 \$ 1.89 \$	2,379.44 173.88	
Fuel Gas Gal.	92 \$ 1.89 \$	173.00	
Total Miles	3609		
Equipment Repairs	\$	4,790.14	
Cutting Edges		543.88	
Labor,Over Time Highway,Mechanics & Buildings & Grounds	394.5 \$ 29.30 \$	11,558.85 28,600.03	Total
Event Notes	Crew in to salt and scrape	mains, scrape	e and sand throughout the day and night
	Heavy snow through the nig	ght with light :	snow all day on the 13th. Crew scraping all
-	day.Start clean up on sides	around 5pm	clean up mains and salt done at 8:30pm.

Date

2/15,16

Type of event	8"-10" wet snow	
Time Called Out	7am on the 15th	
Time Event Finished	3:30pm on the 16th	
Total SaltTons	Unit cost Cost 128 \$ 59.36 \$ 7,	<u>598.08</u>
Total CalcGal.	640 \$ 1.45 \$	928.00
Total Sand Salt-Yds	166 \$ 12.62 \$ 2,0	094.92
Fuel- Diesel Gal.		979.60
Fuel Gas Gal.	42 \$ 1.89 \$	79.38
Total Miles	2727	
Equipment Repairs	\$ 2,3	316.41_
Cutting Edges		543.88
Labor,Over Time Highway,Mechanics & Buildings & Grounds		057.50 597.77 Total
Event Notes	Crew in regular time out to sale	t mains 8am. Scrape and sand as needed through the day
		sleet. Scrape and salt early morning on the 16th. Some pack
	on roads, resalt some area's o	f hoovy nock Dono 2:20nm
<u> </u>	on roads, roads como area o c	т пеаvy раск. Бопе 3.3орпі.
	orriodad, result como area o	т пеаvy раск. Бопе 3.30рш.
	Sirrodas, recait como area s	т пеаvy раск. Бопе 3.30рш.
	STITEGES, FEGER COME GROWS C	т пеаvy раск. Бопе 3.30рпі.
	STITEGUS, FEGURE COMO GIOGO C	теаvy раск. Бопе 3.3орпі.
	sirrodus, result como urou s o	теаvy раск. Бопе 3.3орпі.
	simple distribution of the	теаvy раск. Бопе 3.3орпі.
	-	Theavy pack. Done 3.30pm.
	sirrodus, recuit como drod s	теаvy раск. Боле 3.30рпі.